
15: Institutional Veto Players 691

the status quo and a new policy, you should assume, to keep things simple, that the actor will 
choose the new policy.

Spatial Model of Bicameralism

9.	In Figure 15.7, we illustrate a situation in which we have a unicameral legislature that 
includes a median voter (MV) and a status quo policy (SQ) arrayed along a single left-right 
issue dimension that runs from 0 (most left) to 10 (most right). The median voter is assumed 
to have a single-peaked utility function and to vote for the policy that is located closest to 
her ideal point.
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Illustrating a Unicameral LegislatureFigure  15.7

Note: MV = the median voter in the legislature; SQ = the policy status quo.

a.	What is the range of policies that the median voter prefers to the status quo? If the 
median voter in the legislature gets to propose a new policy, what would she propose? 
What would the outcome be?

In Figure 15.8, we illustrate a situation in which we have a bicameral legislature. The 
location of the status quo policy is SQ, the location of the median voter in the lower 
chamber is LC, and the location of the median voter in the upper chamber is UC. Assume 
that both median voters have a single-peaked utility function and that the support of both 
chambers is needed to pass a new policy.

Illustrating a Bicameral LegislatureFigure  15.8

Note: UC = the median voter in the upper chamber; LC = the median voter in the lower chamber; SQ = the policy 
status quo.
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b.	What is the range of policies preferred to the status quo by the median voter in the 
lower chamber? What is the range of policies preferred to the status quo by the median 
voter in the upper chamber? What is the overlapping range of policies preferred by both 
chambers to the status quo?




